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ECONOMICS
PAPER - 11

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  The Model of Managerial Enterprise 5.

. . . Match the items in List — I with items
is associated with

(A) R.A. Gordan in List —IT :

(B) R. Marris List— 1 List— 11l
(C) Baumol (a) Technical (1) Gold and
(D) Scitorsky Monopoly Silver

2. Which one of the following is not an (b) Global Market (2) Cartel

assumption of linear programming ? (c) Legal (3) Coca Cola
(A) Constant output prices

) : Monopoly
(B) Constant input prices ) )
(C) Increasing returns to scale (d) Oligopoly (4) Patent Rights
(D) Technologically fixed factor Codes:

roportion
o @ ® ©
3. In the Paul Sweezy Model of A 3 1O @ @
Oligopoly in the Kinked Demand
Curve, the point of kink represents B ¢ @ @O &

(A) Quantity Rigidity © @ 3 GO @
(B) Price Rigidity' . D @ (1O @ O
(C) Both the Price and Quantity
Rigidity
(D) Only Price Rigidity 6.  Assertion (A) : Consumer Surplus is
the difference between the
4.  Match List-I with List-11I : potential price and actual price.
List—1 List _.“ Reason (R) : There  exists an
(a) Offer Curves (1) Public . . .
Revenue inverse relationship between
(b) Laffer Curves (2) Sticky Price the price and consumer surplus.
(c) Lorenz Curve (3) Reciprocal Codes :
demand
(d) Kinked (4) Inequalities (A) Both (A) and (R) are true and (R)
Demand Curve is the correct explanation of (A).
Codes : (B) Both (A) and (R) are true, but
(@ (® ( (@ (R) is not the correct
A G @O @& @ explanation of (A).

B) () (3) () @&
EC; 53; §4; EI; E2; (C) (A)is true, but (R) is false.

D @ O 2 @ (D) (A) s false, but (R) is true.
Paper-I111 2 D-01-13
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PrErER

AT T YT H UEER (75) Tg-fohedid U9 & | Wl TR &t (2) 3k E | |t U i ard ¥ |

1.

T ITH 1 Tt [had Trafed & 2
(A) IRT. MA

(B) 3R, HIRA

(C) et

(D) W

fefed § W@ TS H A

H TR § 2

(A) 3TRA i R wAd

(B) &R 2w S

(C) oM % TFAH Uidhet

(D) vEfE w ¥ fuia sRe
ST

FAMYFR & U el died  H,
fogtad A oF § Had & g H’
Tehe AT & 2

(A) HET I ST

(B) HEd I ST

(C) hHd U | ST 1 3T
(D) HaeT AT i SR

Gelt-1 T G113 Fr G HifTT
=t - | = - 1

(a) @ aH (1) TS ToTe

(b) TMFE FH  (2) TE HiFd

(c) ARSTash  (3) S HI

(d) fogfem  (4) SEHAATL
HAT dsh

HIS

@ b (© @
Aa 3 O @ @
@B @O & @ @
© 3 @ O @
@ @®H @O @ B
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5.

gAll § WS B G-I HORET  Ay
FAfeT I -

=it - | = - 1
(a) TRl (1) o7 we =&t
THIUHR
(b) IWEF AR (2) IURH 9H
(c) fafu (3) I HieT
(d) oafehR  (4) THE (F2)
THITHR
HIE

@ ) () (@
A 3 @O @ @
B 3 @ @O @&
© @ 6 @O @
@ @ @O @ 06

AHUT (A) : ST HAReh, Fenifera
HIFd TAT FAdfersh hiAd o oM
H AL |

FROT(R):  HEd IR ST
TRP & T UTqAHT T g
g

S

(A) (A) 3R (R) 3 & & 3R (R),
(A) &l TE AT |

(B) (A) 3R (R) I ¥ & WA
(R), (A) =t WEl AT Tl ¢ |

(C) (A)TF &, W (R) AT |
(D) (A)3ITIE, R (R) A& |
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10.

Assertion (A) : The long run cost
curve is L shaped rather than U
shaped.

Reason (R) : The new technique of
production of large plants
reduce the total cost per unit of
output in the long run.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(C) (A)is false, but (R) is true.

(D) (R)is false, but (A) is true.

Which of the following is true ?

a. Indifference  curves  slope
downward from left to right.

b. Indifference  curves  slope
downward from right to left.

c.  Indifference curves are convex
to the point of origin of the two
axes.

d. Indifference curves
intersect each other.

(A) a,band c are true.

(B) b, candd are true.

(C) a,candd are true.

(D) aandd are true.

never

A major portion of the multiplier
effect is realized in fewer periods when
marginal propensity to consume is

(A) unity

(B) larger

(C) smaller

(D) none of the above

The optimum capital stock is
achieved when the user cost of
capital is equal to

(A) the interest rate

(B) the depreciation rate

(C) the marginal product of capital
(D) Tobin’s Q
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11.

12.

13.

If the economy is operating at
potential GDP, an increase in money
supply will lead to

(A) Stagflation

(B) Structural inflation
(C) Demand-side inflation
(D) Supply-side inflation

Which of the following is true in case

of the orthodox (early) Keynesians ?

1. Interest elasticity of demand
for money is extremely high.

2. Interest elasticity of demand
for money is low.

3. Changes in the quantity of
money do not have important

predictable effects on the level
of economic activity.

4.  Demand for money is unstable.
A 1,2,3

(B) 1,3,4
© 1,2,4
D) 2,3,4

Which of the following statement is false ?

(A) The IS curve is flatter, lower the
value of the Keynesian
multiplier and lower the interest
resistiveness of investment.

(B) The IS curve is steeper lower
the value of the Keynesian
multiplier and lower the interest
resistiveness of investment.

(C) The position of LM curve
depends negatively on the price
level and the resistiveness of
the money demand to the
changes in income.

(D) The LM curve is flatter, the
larger the interest resistiveness
of the money demand and the
lower the income resistiveness
of the money demand.

D-01-13



10.

AfWHYR (A) : IR AT a5k U
SR N & & oTg L 36K
BATE |

FRUT(R):  SHH H 9 GO &

IART I A dhAlR Ufd Ihe

TR i FHoT ANTT FHF A & |

B

(A) (A) 3R (R) I T & 3T (R),
(A) & TE A |

(B) (A) 3R (R) Sl ¥ § W=
(R), (A) i & =T &l ¢ |

(C) (A) 3T, W] (R)TA T |

(D) (R) 3 &, W] (A) TAE |

frfafeg d A S T AT & 2

a. ST (Fe®) Wk 9§ SQ
ToTalt BT € |

b. [/EEA (AT) T IM H AM
goTat e ¥ |

c. ST (ATT) Tk I 3T+
oA fog W SAA BT € |

d. SSEEA (Fe) a5k F U T
T Hredl T ¢ |

(A) a,bTdcTAE |

(B) b,c3RdTAT |

(C) a,c3iNdITE |

(D) adIRATAE |

O TME S d8l e 9gd oH
Jaydl H U e § S SUWHT i
o= gt g &

(A) THE

(B) 3w

(€) =H

(D) U | I HIE T

S Ul Wi a9 U B & 5 et
FH ST AN AT % SR
et &

(A) IS T

(B) T B W T

(C) YTt 1 HiY=T SIS

(D) T Q
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11.

12.

13.

Iig erfeeen Sifad ST 8 O W %
T T T A TR MY § gl FH=terrad
i S 3T B

(A) g Tt

(B) GTEATHS HST ThId

(C) HT-ef™ q5T THITT

(D)  3MYfq-uefi qET Thifd

FIART (IR) Hgasar & At o

freferfea 4 @ w1 g & 2

. T & fou A9 o = o
3T 34 eIl ¢ |

2. AT % oW AT 6 @t A e
AT |

3. TR H WA H UREdHl S
Tafafy % WX W Hewqol
AT TS el IS € |

4. HRT D HOT AR BT |

frfefad & | =i o1 A e € 2

(A) HTARS TUTH H Tod ST FH
gm R few W =™
Hogeliorar ot | @,
SME.UH. Ik 3T TUIE BT |

(B) SHIETE! T HT Hod ST A
g R e W =™
Hagsiorar et w| ',
SMETF. Tk ST gordm (AT )
Uil

(C) TATH. o & &fd #iud T
qAT 3T B URSHT & Ufed T i
T o Feg-eierar W RIS
w9 Y i et €

(D) T H HT H AT GoAGALICA
TSt eifres gt 3T HqwT 0 |
H T Fagsierdr et w9
?ﬁ,mé’rww.wwﬁm
|
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14.

15.

Which of the following statements
are true ?

1.  Increased government spending
affects aggregate spending
more quickly than does an
increase in money supply.

2. An increase in aggregate
demand has no effect upon real
output when aggregate supply
is vertical.

3. An increase in government
spending always crowds out an
equal amount of private sector
interest sensitive spending.

4.  Increased government spending
affects aggregate supply less
quickly than does an increase
in money supply.

Codes :

(A) 1&2
(B) 1&3
(C) 1&4
(D) 3&4

In the context of the theory of
economic  growth, match the
theory/facts given in List I with their
propounders given in List IT :

List—1 List— 11

(a) Stylised facts of (1) R.M.
economic Solow
growth

(b) Exogenous (2) N.Kaldor
growth theory

(¢) Golden rule of (3) Radner &
accumulation Samuelson

(d) Optimal growth (4) E.S. Phelps
turnpikes

Codes :

@ () (© (@
@ @ @O 6 @
® ¢ @ @O @&
© @ O @ O
@ @ @ 6 O
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16.

17.

18.

19.

20.

21.

The endogeneous growth theory
seeks to provide explanation for
which of the following determinants
of growth that the Solow’s model did
not explain ?

(A) Technical Progress

(B) Labour Growth

(C) Role of the government in
promoting growth
(D) All the above

‘Multi-dimensional Poverty Index’
(MPI) is a new index to be included in
(A) World Human Report

(B) Human Development Report
(C) World Development Report

(D) India’s Human Development
Report

Which is the better measure of
welfare ?

(A) National Income

(B) Per Capita Income

(C) Per Capita Disposable Income
(D) Gross National Product

Which of the following year of the
11™ Five Year Plan registered the
highest GDP growth rate ?

(A) 2007-08

(B) 2008-09

(C) 2009-10

(D) 2010-11

What is the main purpose of
UN.E.P.?

(A) Equal development

(B) Economic development
(C) Reduction in temperature
(D) Sustainable development

Foodgrains in India are canalized by
(A) ONGC

(B) OIL
(C) FCI
(D) MMTC

D-01-13
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15.

1. & =@ ° ghyg oo =3 H
ST WA @ yifed Rt §
IT 91 9 | ghg & |

2. S 9 g SRR el § at
I B A gy # ardtes
I TR IS WA T TS ¢ |

3. SR & H gy guen Fel e
& I HagTRIe g H GHH

AT Sl SIS 3 HAT & |

4. T 3MUfA | gy & ST WEER
=g § ghg ¥ AYd H HH
Sirerer | Teiferd et € |

HS:

(A) 132
(B) 13WR3
(C) 134
(D) 334

3t Fgtg & fagd & T o gEr-I
" R fagmar & gl § T 3T
AUTE Rl % AT GHTTT HIFTT
=t - | =t - 1
(a) MIF dIg & (1) SRUA.
wigag FRb et
(b) Sfestia Fie
g
(c) T I @
Epe Jerera
(d) F=am g
T
T
@ ® (© (@
@ 2 O 6 @
B 3 @ GO @
© @ O @ 3
® 2 @ 3 O
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16.

17.

18.

19.

20.

21.

et Haty fosTa dafg & &9 4

URE & R USH A B O]

Far ¢ 58 fF At dteer 7 e @l

g

(A) TR W

(B) o™ Hgis

(C) Hafg = Fgmear 33 H WHR B
T

(D) SudeR &t

“Fg- ST (e gashish” (MPI) &=
gaais & S8 fefateg 4 wmfase
Topam ST &

(A) fava ama fare

(B) HMd faehr Raie

(C) fova fomma fare

(D) 9Rd 1 A fawra Rae

FHeT0T ST TgX AT I AT § 2
(A) TLE

(B) ufa =afe e

(C) Wid =afert == e o1
(D) Wbt LT 3

1 19t dedtE Iiet T & 6T 99 | S
STreit gl 5 3T i TS o 2

(A) 2007-08

(B) 2008-09

(C) 2009-10

(D) 2010-11

JUAZ . T T 329 FME 9
(A) FEF o
(B) 3Tfees forehra
(C) dmEE § ot
(D) ERON fara

IR § W= # FEfated o e
FRT TNy, (ShetTesT) fhar ST € 2
(A) ONGC

(B) OIL

(C) FCI

(D) MMTC
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22.

23.

24,

25.

As per provisional data released by
C.S.0. for Q1 of 2012-13, the GDP

growth has been estimated at

(A) 5.1%
(B) 5.5%
(C) 5.9%
(D) 6.2%

In whose economic theories,

Malthus’ theories are in the base ?
(A) Adam Smith

(B) Ricardo

(C) Keynes

(D) Robins

There are four phases of a business
cycle. Identify the correct sequence

of the occurrence of these phases :

(A) Recovery, Recession, Expansion,

Depression

(B) Recovery, Expansion, Depression,

Recession

(C) Depression, Expansion, Recession,

Recovery

(D) Recovery, Expansion, Recession,

Depression

The Total Factor Productivity (TFP)
in agriculture during the 11" plan in
India

(A) Increased

(B) Declined

(C) Remain unchanged

(D) Had no specific pattern

Paper-I111

26.

27.

28.

29.

Income elasticity of demand for food
in developed countries is less than

(A) zero
B) 1
© 2
D) 3

‘Apna Khet, Apna Kaam’ (i.e. own
field, own work) is a new scheme
under MNREGA and it was initiated
in the State

(A) Punjab

(B) Gujarat

(C) Rajasthan

(D) Madhya Pradesh

‘Price Scissors’ refer to

(A) Relative price of fuel and
industrial goods

(B) Relative price of industrial
goods in terms of agricultural
goods

(C) Relative price of imported
goods in terms of the exported
goods

(D) None of the above

Assertion (A) : Yellow Revolution
increased the production of
seeds.

Reason (R) : White Revolution
increased the production of
milk.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.
D-01-13
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23.

24,

25.

g3, % R 2012-13 % FIH =Y
% folT ST sTHfqH sifehel % TR,
SISt i o1 ST SFTHM T T4 € 2

(A) 5.1%
(B) 5.5%
C) 5.9%
(D) 6.2%

fras onfier fogral ¥ Woww &
T gt § T €2

(A) ueH fer

(B) el

(C) ==

(D) ifsr

MR h & I) RO & | 9 =ROM &
Hied g T Tel 3T ST

(A) aget, 3feme, faer, @t

(B) g, fawr, =1, s7amsH

(C) oY, foR, YaveH, Sget

(D) g, IR, 1w, Ha

WRA H 118 A % SR & °
1 R SeAesha (TFP)

(A) gl |

(B) HAEE A |

(C) omRafad @ |

(D) T favi e e o |

D-01-13

26.

27.

28.

29.

fospiaa 3o o @ & fow J@ =t o
e foh a1 el & 2

A) =

B) 1

€ 2

D) 3

(MNREGA)’ & 31=<iid a9 @i ¢,
g [T o9 H U B TTE ot 2

(A) TS
(B) T
(C) TeTEIH
(D) HET TSI

‘D e HaS T T 2

(A) 309 wE IR aEgel W
TS HiEd |

(B) T axgal & T H ST
T P ToHICHS BT |

(C) Faifqd =xqsti & =9 ¥
M axqgslt o oS
HE |

(D) ST | H HE Tl

Afpe (A) el i & ST &
ST A I gE ¢ |

HRUT(R): vod i< 4 ¥ &
IAEA | g B E |

Eac

(A) (A) 3R (R) 3 T € 3R (R),
(A) H TE AT |

(B) (A) ¥R (R) T ¥F &, W
(R), (A) =l T&l =& T € |

(C) (A)TFE T (R) FEAE |
(D) (A) FFA T, W< (R) TAE |
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30.

31.

32.

33.

The immediate cause for the collapse

of the Bretton Woods system was

(A) the expectation that the U.S.
would soon be forced to
devalue the dollar.

(B) the massive flight of liquid
capital from the U.S.

(C) the attempt by three small
European Central Banks to
convert part of their dollar
holdings into gold at the Fed.

(D) All of the above

In case of Fixed Exchange Rate
regime adjustment in Balance of
Payments takes place through

(A) changes in price level

(B) changes in exchange rate

(C) changes in interest rate

(D) none of the above

A spot Foreign

Transaction refers to

(A) the purchase or sale of foreign
exchange for delivery within
two business days.

(B) the sale of foreign exchange for
delivery.

(C) the purchase of
exchange for delivery.

(D) none of the above.

Exchange

foreign

Regarding M.F.N. (Most Favoured

Nation) clause, find out the correct

statement :

(A) It guarantees special privilege
to the contracting parties.

(B) It guarantees only equal
treatment.

(C) The wunconditional M.F.N.
clause seems to be more
equitable than the conditional
one.

(D) The conditional M.F.N. clause
confers significant rights on the
contracting party.

Paper-I111
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34.

35.

36.

Match List-I with List-1II :

List—1 List—11
(a) Hamilton (1) Trade creation
List and Trade
diversion
effects
(b) Marshall- (2) Indian Industry
Learner
(c) F.Y. Edge- (3) Elasticity
worth approach
(d) Jacob (4) Impoverishing
Viner growth
Codes :

@ () (© (@
A @ 6 @O @
B @ & @ @O
© & @ @ @O
@ & @ @O &

Under a managed floating exchange
rate system, the Nation’s monetary

authorities intervene in Foreign

Exchange Markets to

(A) smooth out short-run
fluctuations in exchange rates

(B) smooth out long-run

fluctuations in exchange rates
(C) smooth out short-run and long-
run fluctuations in exchange
rates
(D) keep exchange rates
among a group of nations

fixed

Which of the following is related
with optimum currency area ?

(A) Optimal geographical area for a
single currency

(B) Optimal geographical area for

several  currencies  whose
exchange rates are relatively
pegged

(C) Single currency or the pegged
currencies fluctuate jointly vis-
a-vis other currencies

(D) All the above

D-01-13
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31.

32.

33.

e ged wEen % fgwEy g @

ATCHITCTSh SHIROT T 2T 2

(A) TE TmT % U, 3" & SR
HT TYeIT HA o [T e &
ST |

(B) JUH. ¥ A Ysil 1 ARI T
TAE |

(C) dF BT RET T Tl FRT
31T SoR SIS & $© |6 &
%Yol § W@l § S5 1 T

(D) ST Tl |

fer fofma 5% saen & ame § Jrae
Tqer Toheeh ST &l & 9
(A) YT TR gieaT
(B) fafma 3 @ ufRae
(C) =1 =l X | uRada
(D) SUI | 9 B TR

TR (Wie) foslt a1 fafma feed
grafed € 2

(A) T =R A & 37T feetadt &

for ferett TsT =i @i = fosht |

(B) feoiet & faw fomelt wmm &
Toeh |

(C) fecfle’t &% fow femsit wmEm =t
|

(D) SS9 | 9 HIE TR

THURTA. (AR has =9F) 9 &

T H FE U T BT |

(A) TE st FA aet Fedt H ey
i ol MR=T ST € |

(B) ¥€ HIl M FIER Bl TR
TAE |

(C) sWiqar+d TATRT.  HR

(D) widafed THURTA. €1 Hewt
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34.

35.

36.

Gel-1 T GAl-11 o T Gl HifTT
e - | =t - 11
(a) efeeAfere (1) =R goH Td
R o=
41
(b) TRTATFR  (2) YRAF-IENT
(c) TR, (3) = @
TSt Hicau)
(d) ShE AR (4) INREASTHAR
BELES
Eﬁ?{'

@ () (© (@
@» 2 & @O @
B @ & @ @
© & @ @ @O
@ & @ @O @&

oo foeat o @ smeen &

I, UL F Hifgew WeR fagen

fafma oo | e o saeu @

g

(A) fa= 50§ Sroeies 3aR-
Tgral i T % T |

(B) fafma 0 & <repiieiss  3AR-
IgEl Hl TeH F [T |

(C) fofFma 0 A orcusiaes Twd
SIHHITh SAX-TeEl &l TSH &
T |

(D) T &% HYE % o a9 53 o
R @ & faw |

feAfeiad 5 & i 91 3789 S &

& Y T 2

(A) ;;rwaﬁr\qﬁo‘mwaﬁﬁm

|

(B) € wFal & foru, feent fatma
T oIS T § Hiferd HT I
TS ¢, I2ad AT &9 |

(C) THA HH a1 Hifed Ham
3 BT A O B G
Y § I € A HeAl-agedt € |

(D) 3w |l |
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37.

38.

39.

Which of the following is true with
respect to the monetary approach to
the balance of payments ?

(A) A balance of payments deficit
results from an excess supply
of money in the nation.

(B) A balance of payments surplus
results from an excess demand

for money.

(C) Balance of payments
disequilibrium are
automatically corrected in the
long run.

(D) All the above

Which one of the following tax is
within the jurisdiction of the Central
Government as enumerated in List [
of Seventh Schedule of the
Constitution of India ?

(A) Taxes on mineral rights subject
to any limitation imposed by
the Parliament

(B) Taxes on the consumption and
sale of electricity

(C) Taxes on sale and purchase of
newspapers and on
advertisements therein

(D) Excise on alcoholic liquors for

human consumption, opium,
Indian hemp and other
narcotics

Grants from the Centre to the States
under the
Finance Commission are known as

(A) Plan grants

recommendations  of

(B) Development assistance
(C) Statutory grants
(D) Discretionary grants

Paper-I111
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40.

41.

42.

43.

Match the items given in List I with
those in List II :

List—1 List— 11
a. Committee  on 1. Rajal.
Taxation of Chelliah
Agricultural
Wealth and
Income, 1972
b. Direct Taxes 2. LK. Jha
Enquiry
Committee, 1970
c. Tax Reform 3. K.N.
Committee, 1991 Wanchoo
d. Indirect Tax 4. K.N. Raj
Enquiry
Committee, 1976
Codes :
a b c d
(A) 4 1 2 3
B) 4 3 1 2
< 3 2 1 4
D) 2 3 1 4

The biggest holder of Government of

India dated securities :

(A) Reserve Bank of India

(B) Life Insurance Corporation of
India

(C) Employees Provident Fund

(D) Commercial Banks

Arrange the introduction of the
following taxes in India in
chronological order :

L. Service tax

II.  Income tax

III. Banking cash transaction tax
IV. Gift tax

Codes :

(A) ILIV, LI

(B) IL L II, IV

(©) ILuLLIv

(D) IV,IL 1,111

Who amongst the following has not
worked for estimation of Black
Money in India ?

(A) N. Kaldor

(B) Dr. D.K. Rangnekar

(C) O.P. Chopra

(D) Sukhamoy Chakravarthy
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37.

38.

30.

PIAA TIer o Hifgeh U % T
H frefefad 5 9 1 9 € 2

(A) ¥TH HqeM H Rl T H OAE
MIfq & ST & URUTHEEY
BAAE |

(B) M HeH 3 HIT H
AR AT Y BT e |

(C) I Ided | ST SIHeet
H @ & Sh &l S € |

(D) Iuga Tt

frfefad & 9 o |1 = FT WHR
% SR o 38T 31T & ST foh 9
% G & Qe g S gl o
GRATOMT Y TE ® 2

(A) O FRT RIS ot off drm &
SR W G ATHRT T |

(B) festelt o 3T e fofshl 0¥ T |

(C) THER w= ud 399 fasmoAr
forsht e Wig W |

(D) THa ITAR & AU Riel IR,
W T IR ek |

faa s =t fawIReT & a9
T4T BT STRTT BT SR et © 2

(A) ASFT SFTH
(B) oo weraen

(C) S 3T
(D) foerERt SFRH
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40.

41.

42.

43.

Al | S Oe B ge-ll A S 9&l %
W'ﬁ'ﬁﬁﬁaﬁﬁ'@
= - | =t - 11
a. FUH U UE A 1. TS
FHTYH G, 1972 et
b. Vel Y Sitg @A, 2. Uelh, o
1970
c. W GUR WM, 1991 3. FHUA. T
d. W@ W S 4. HUA IS
qmHfd, 1976

HE:

a b c d
(A) 4 1 2 3
(B) 4 3 1 2
< 3 2 1 4
(D) 2 3 1 4

IRA WHR & THaes wfofadr &
T TS URF &

(A) YRdE g %

(B) R e simr e

(C) U wfass Aty

(D) o Sk

IR ° FfetEd w0 # AN A &
TSI e | Safedd Sify
I "ars

I 3mW&

Il ST TS T T

IV. SWER

EAER

(A) 1L IV, 1, III

(B) I LI, IV

(C) ILIIL LIV

(D) IV, 1L 1, 11

ORT T Il & 1 e HH & [T
FfeRad | Tha- W 7@l 6T € 9
(A) T FHlesT

(B) S B, THEHT

(C) el =Tt

(D) TgEHT =he
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44. For which of the following items of
household consumption expenditures
in India, NSSO takes the reference
period as 365 days ?

(A)

(B)
©)

(D)

Clothing, footwear,
education etc.

Edible oil, fish & meat, egg
Vegetables, fruits, spices,
beverages & processed food

All other food, fuel & light,
misc. goods & services

bedding,

45. What is the average monthly per
capita expenditure (modified mixed
recall period) for rural India in 2009-

10?

(A)
(B)
©)
(D)

46. What

3 845.54
T 1053.64
3 1322.25
T 1984.46

is the target for total

outstanding liabilities at the end of
2015-16 as per medium term Fiscal

Policy Statement

of the Union

Budget 2013-14 (Percent of GDP) ?

(A)
(B)
©)
(D)

47. Which of the

42.3
44.5
41.1
47.8

following years

recorded growth rate of agriculture-
GDP (at constant prices) more than 5

percent ?

1. 2006-07
ii.  2007-08
. 2010-11
iv.  2011-12
Codes :

(A) 1&iii
(B) 1,11 &iii
(©) ii &iil
(D) i&iv
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48.

49.

50.

Which of the following items of
private final consumption
expenditure has the largest share (in
the PFCE) in recent years in the
Indian Economy ?

(A) Clothing & Footwear

(B) Gross rent, Fuel & Power

(C) Transport & Communication

(D) Furniture, Furnishings, etc.
Which of the following has not been
one of the terms of reference of the
Thirteenth Finance Commission of India ?
(A) The distribution between the
Union and the States of the net
proceeds of taxes which are to be,
or may be, divided between them.
The principles which should
govern the grants-in-aid of the
revenues of the States out of
the Consolidated Fund of India.
The measures needed to
augment the Consolidated Fund
of a State to supplement the
resources of the Panchayats
and Municipalities in the State.
The method of rescheduling the
debt burdens of the States in
view of their growing deficits.

(B)

©)

(D)

Match price indices in India given in List
I with their latest base year in List-1I :

List— 1| List—11
(a) Wholesale Price (1) 2001= 100
Index

(b) Industrial
Workers (CPI-

(2) 2010=100

IW)

(c) Consumer Price  (3) 2004-05 =
Index (New 100
Series)

(d) Agricultural (4) 1986-87
Labourers (CPI- =100
AL)

Codes :

(@ (b)) () (d)
A 3 1 2 @
B) 3 @ @ A1)
© @ @ @# Q)
@ @ @ @O 6
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44,

45.

46.

47.

qRA § Tienier ST =59 &t S 9t

Tl % [T, T9.09.09. 31, T3 31ary i

365 At FET T AT ® 2

(A) =, S, o, e s |

(B) W dct, Tel U Hid, 37U |

(C) TNI-Tsstl, e, HETel, UA-aTe e
Ty @R |

(D) o= wf @™ WY, T wE
wehTeT, fafere aeqd ua Sam |

Y 2009-10 | UTHITT 9RG & [T 3Gd
ofae Ufd Al = (@entaa v

STTERT HTeT) 1 & 2
(A) T 845.54
(B) % 1053.64
(C) 132225
(D) % 1984.46

2013-14 &% THE oS & HIBNAD
TSR A 2= o 3TER a9 2015-
16 % 3T | PoT THMAT 3FaATSH & foTT
ARG 1 ¢ (ST.EL . T Ufdwre) ?

(A) 423

(B) 445

(C) 41.1

(D) 47.8

Tt & & T ol ® 9 ST,

# gfg W (FeR FHEda W) 5 ufdea d
ST &1 I TS 2

i.  2006-07
ii. 2007-08
iii. 2010-11

iv. 2011-12
FS:

(A) 1i3iii

(B) i, ii 3 iii
(C) i 3 iii

(D) i3Wiv

D-01-13
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48.

49.

50.

TRAT AT § el & & o o
ot eafa U =52 =l i 9 /el
T TeT e (WUEHLE, H) W 2
(A) 8 TE S

(B) WeheT TSN, 39 Wa Sl

(C) URERA T §aR

(D) TR, |S-GHM TS

frfefed & ¥ ®F O 9Ra & Red

T T o foame T F&f w1 e 2

(A) I & oo Wit & Hx "
T & o foeRor = 39 |
foaita fopar s an faafa feean
ST el & |

(B) ¥Rd o HAMhT M ¥ T4 &
6@ % WeIdl FREE W
fraf=a 1 aret fagr |

(C) T~T Y YOl Ud ARUTeTshret &
AT T qRAT URH A &

TSI b gAfeRd MR @ 9@gq &

T STavaes 3U |

(D) TSI % Fgd §U HIS H I@d g¢
SToh ROT YRT BT QARSI e
W UFHT |

Al | 3 T 9Rd § HEd o

H G-Il B 39 eI YR au &

W'\iﬁ%ﬁaﬁﬁlﬂ'

et - | it -

(a) 9% ®Md g=HE (1) 2001= 100

(b) 3TNt Ty (2) 2010=100
(ST T, 377% - 3TFE.

)

(c) SR AT (3) 2004-05 =
GIAHI® (T 100
Zickl)

(d) T A1gT (4) 1986-87
(.13, - TUe.) =100

m.

(@ () () ()

@ 3 GO @ @

B 3 @ & @)

© @ GO @ 0O

® @ @ @O O
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51.

52.

53.

Which of the following does not hold
correct about the Demsetz view of
concentration and monopoly power ?

(A) Superior efficiency produces

both increased concentration
and more profits.

(B) The causal Ilink is from
concentration to profitability.

(C) The causal Ilink is from
efficiency to concentration.

(D) The causal Ilink is from
efficiency to profit.

Find out the value of Gini coefficient

for  estimating the  industrial
concentration for the following
industry  using  the  formula
N
1
GZE X (N-2i+1)S, (Where N

i=1
1s the number of firms and S, is the

share of i firm in terms of sales of
the industry.)

Firm | Firm | Firm | Firm
1 2 3 4

Industry

70 10 10 10 100

(A) 25 (B) 35
(C) 45 (D) 65

Relate the items given in List-I with
the List-Il with regard to Wage

Theory :
List—1 List— 11
a. Iron law of wages 1. J.S. Mill
b. Wage-funds 2. John R.
theory Hicks
c. Surplus-value 3. David
theory Ricardo
d. Marginal 4. Karl Marx
productivity theory
Codes :
a b C d
A 1 3 4 2
B) 2 1 3 4
<) 3 4 2 1
(D) 3 1 4 2
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54.

55.

56.

S7.

Which of the following is not an item
of social security of labour ?

(A) Wage

(B) Maternity benefits

(C) Pensions

(D) Industrial injury

Which of the following has not been
suggested as the features of informal
sector endorsed by the UN Statistical
Commission (July, 1993) ?

(A) Private un-incorporated Enterprises

(B) No complete accounts are
available that would permit a
financial separation of the
production activities of the
Enterprise

(C) Casual jobs or jobs of a limited
short duration
(D) The employment size of the

enterprise is below a certain
threshold

Which of the following constitutes
the intermediate layer in the three-
tier co-operative credit structure ?

(A) State Co-operative Banks
(B) Central Co-operative Banks

(C) Primary Agricultural Credit
Societies
(D) NABARD

High powered money is

(A) Banks’ reserves at Central Bank
(B) Money held by the Banks

(C) All loans and advances of Banks

(D) Currency held by Public and
cash reserves of the Banks
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51. I TS UHITHR Uik o SHASST &

foraR & ) ¥ 1 Wl el 2

(C) T ¥ HIHIUT T HROUMHD
T |
(D) TRIAT ¥ T T HROMCHE T

t

52. G=§§1(N ~2i+ 1) S, F N 3TAM
Fd gu Tefeafed samm & fow
TR HHIHOT B e HH &
fow fTit Tqoties 1 ot ST T |
(FRT §F H N WH & wEe € N S,
ST i feTshl o Ty | R i T e
?)

W1 | ®H-2| WH-3| ®H-4| SE
70 | 10 | 10 | 10 | 100

(A) 25

(B) 35

(C) 45

(D) 65

53. eIgdl ST % W H gEl-l S el

1 GAI-11 & T GHfeTd HIFT
= - | = - 11

a. WA H R 1. U A
fagT=

b. TeigH-fAfy 2. S IR
EeEAR] fesr

c. e god 3. 3w
fagm= Repret

d. e ScEsar 4. il qeg
T

HE
a b c d

A 1 3 4 2

@ 2 1 3 4

© 3 4 2 1

M 3 1 4 2
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54.

55.

56.

S7.

frfefaa & ¥ &9 d 99 = gmEsTs
YT Rl 7S T E 2

(A) woIgd
(B) T wgferen
(C) deH
(D) 3RIfTH @

T W Wi S (S,
1993) SR SFHIIGA AN &
fergreremt 1 it 7@t 5 M E 2

(A) st stfmtaa sem |

(B) IS gl i@l SUTed Tl € T SE|
H IR TdaeE wr oI
ST B S |

(C) pfss HF a7 GifFd  31ed
T % 1 |

(D) STH F USHIR 3MHR Teh Hroad
T | T A ¥ |

frefefEd § & i 9 JF ©RT Fehrl
0T @19 H WeFerd! el & 9

(A) TT HeFR 9

(B) H=T WEFRI &k

(C) wTfTeR S FoT It
(D) e

3T AT AT &

(A) HETT S H ST ! TRIETT T |
(B) Siehi % T AT |

(C) Sehl o THET 0T UE A0 |

(D) SHAT & U S UE S+
Fohg =t |
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58.

59.

Assertion (A) : Investment companies
have not been able to attract
much public savings in India.

Reason (R) : Investment companies
are pure financial intermediaries
and they specialise in the
mobilisation of public saving for
investment in corporate securities.

Codes :

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A) is not correct, but (R) is
correct.

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

Find out the correct answer from the

code given below :

Main features of Regional Rural

Banks (RRBs)

L RRBs have been established by
‘sponsor bank’ usually a public
sector commercial bank.

II. RRBs grant direct loans and
advances only to small and
marginal farmers, rural artisans
and agricultural labourers.

III. The area of RRB is limited to a
specified region comprising
one or more districts of a State.

IV. The lending rates of RRBs are
not higher than the prevailing
lending rates of co-operative
societies.

Codes :

(A) 1II and III are correct.

(B) TandIII are correct.

(C) 1,1l and IV are correct.

(D) L II and III are correct.
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60.

61.

62.

63.

Find out the correct answer from the

codes given below :

Technique of selective credit control

of RBIL

L. Determination  of  margin
requirement for loans against
certain securities.

II. Determination of maximum
amount of advances or other
financial accommodation.

III. Changing of discretionary
interest rates on certain type of
advances.

IV. Changing the cash reserve
requirements of commercial banks.

Codes :

(A) Tand Il are correct.

(B) L II and III are correct.

(C) I, Il and IV are correct.

(D) Tand]lV are correct.

In a two variable regression Y is
dependent variable and X is independent
variable. The correlation coefficient
between Y and X is 0.6. For this which
of the following result is correct ?

(A) 36% wvariations in Y are
explained by X.

(B) 60% wvariations in Y are
explained by X.

(C) 6% variations in Y are
explained by X.

(D) None of the above.

In a multiple regression with three
independent variables, the regression
coefficients are to be tested. Which
test would be used ?

(A) Ztest (B) Ftest

(C) > test (D) ttest

Input-Output Technique was invented by
(A) Gunnar Myrdal

(B) Wassily Leontief

(C) Hollis B. Chenery

(D) Robert Solow
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58.

59.

afirpe (A) : 9Rd ° AT HeiEt
21T HrerSTeh SeId AR el
FUEE |

HRUT(R): oo o=t I
fodr mey € 3R ®RuUle
vicufaat # e % forg aresi-es
Tl < ST A fererier ure € |

e

(A) (A)TFE, R (R) AT |

(B) (A) 3R (R) Tl el &, W] (R),
(A) T TE AT TR T |

(C) (A) W& & &, W= (R) W& € |

(D) (A) ¥R (R) 3HI &l € 3R (R),
(A) & TET AT T |

e 5T el ¥ Wt 3T AN DI :

&A1 T S (SWIARAL) W g

forioams €

[ RIRE. TAHRG: QESEE
aifoisges deht & ®T H urEifsTd
S g T 63 T

II. SRIARE. FHael o Ua dHw=
gfent I ROT TS AW Y <d
g

[ SRR, 1 F &7, TF | TH
7 ST et & Mived & a%

Hifa & |

IV. AXALE. & YR o4 & §i
TehR! qHfqal o gEied SuUR
U G 3nfyeh TEl Bl € |

BS

(A) AR T E |

(B) 13RIITEE |

(C) LIIRIVIE |

(D) LIRIITEE |
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60.

61.

62.

63.

i 53 PIel ¥ et 3T T DI

R S d §9% H SIS 7O

=0T = T

. 9 uayfaal & e 9 FO0 &
o8 atfara miferT =1 T |

1. A0 o aafuseaw afer ar 3=
Toritg FETEISTT ol R |

Il FT UFR F A0 W (e
=T 0 ° IRaa |

V. aiuiieges o @l =g ST
YA | qREd |

HE

(A) T3IRNTET |

(B) LI RIITEE |

(C) LISARIVTEE |

(D) 13RIVEEE |

Y H IO Y, Y ST W E S

X @aa WeE 1Y 3 X & &=

T i 0.6 € | @e fod

fre=ferfiaa & @ i a1 gy @t & 2

(A) Y ¥ 36% Te9g H X & FRI
AT B T |

(B) Y T 60% ®eag & X & FN
AT Bl € |

(C) Y ® 6% T8 ® X & FN
AT Bl ¢ |

(D) I H F HiE T |

A = =R % AT T A
H, FHISRT O T URIETOT HEAT BT
T | 30 foTw forg adieror w1 SuE feman
SRR 2

(A) Z Tl

(B) F wRieqor

(C) 2 udiero

(D) t URIeToT

aa-fa dee Wt @il e @
g

(A) TR fRE

(B) @ndel feaes

(C) eifer &, o=

(D) = Grett
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64.

65.

66.

67.

The Linear Cobweb model is given as
Supply : g =+ Bp,_,

Demand : p, =y + 6 q,

Where q(0) = q, is initial condition.

For this model stability of market
requires the condition

W) 181<IBl @) [8]<IF |

© [8[>[Bl (D) !5\=|%|

Which of the following statements is
true concerning the optimal solution
of linear program with two decision
variables ?

(A) There is only one solution to a
linear program.

(B) The optimal solution is either
an extreme point or is on a line
connecting extreme points.

(C) All resources must be used up
by an optimal solution.

(D) All of the above.

Given a production function

Q = AL* KB; o, B > 0, increasing
returns to scale requires that

(A) a+p=1
B) a+p=0
©) a+p>0
D) a+p>1

For the demand function P= 10— 3x —x2,
what is consumer’s surplus at X =3 ?

(A) 1625
(B) 20.50
(C) 07.50
(D) 12.50
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68. From the following life-table, find
out the value of life expectancy at
age 4(e,).

Age dy Iy |dy| Ly Ty ey
4 10.000194199208|19]99,199 ? ?
5 10.000177[99189|18 ?  17,246,663|73.1

(A) 72.0 B) 73.0
(©) 740 (D) 75.0
69. Match List — I with List — II for a
hypothetical  population  fertility
estimates :
List—1 List— 11
a. Total marital fertility 1. 4.0
rate
b. General fertility rate 2. 1.3
c. Gross reproduction 3. 39.1
rate
d. Total fertility rate 4. 0.7
Codes :
a b c d
(A) 1 2 3 4
B) 4 2 3 1
< 2 4 3 1
D) 1 3 4 2
70. Verdoon’s law is about the

(A) positive relation between the
growth of population,
employment and output with
the growth of production per

head.
(B) negative relation between the
growth of population,

employment and output with
the growth of production per

head.

(C) positive  relation  between
population growth and
employment.

(D) negative relation between
population growth and
employment.
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64.

65.

66.

67.

g Ahesal Aigd 39 ®0 | g1 S
g

AYfA: q, = a+Pp,_,
ﬁﬁ:m:y+8%

s’ q(0) = q, UREE WA E |
T gisd & [T I sl frer 39 9d
1 HAT AT & —

(A) [3]<|B|
® 181<I5|
© [3]>|B|

®) 15]=15

g wEHA, e 3 o W E F

A GEYE IR Etied 7 9

I AT FHE T E 2

(A) aT FHREHT H HaA TH T
T

TEAH qEEE AT a3 fag ¥
3T 3H @ W ¥ S 3 T
H SAEA & |

TH TAH GEE §RT T A
T FANT BT AT |

(D) SURIeR Tt

(B)

©)

ST e Q = AL KP, o, B> 0 53
ST W, Thel W ARIEN Uid®er bt qi7 &
Ea
(A)
(B)
(®)
(D)

atpB=1
atpP=0
oa+p>0
a+tpB>1

O %o & T P = 10 — 3x — X2,
X = 3 IT SUHIERAT HATcieh 741 &I 2

(A) 16.25

(B) 20.50

(C) 07.50

(D) 12.50
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68. TT=TaIREd SiaH-aleieh §, 4 a9 & 31
(e,) T STEA-HHIGT 1 TaT TR :
A gy Iy [dy| Lx Ty Sy
4 10.000194| 99208 | 19| 99,199 ? ?

5 10.000177]99189| 18 ? 7,246,663| 73.1
(A) 72.0
(B) 73.0
(C) 74.0
(D) 75.0
69. UREHIUT ST TS SFHMT & fow
A1 31X -1 T G AT -
T - 1 e - 11
a. FA  gEG 1. 4.0
T &Y
b. 9HEN USHA 2. 1.3
T
c. Ghel 3. 390.1
TR &C
d FAWHI 4. 0.7
BS
a b c d
Ay 1 2 3 4
B 4 2 3 1
€ 2 4 3 1
M 1 3 4 2
70. Oed &l g PR IR A 7 2
(A) SHEEN @ gy, AW IR
IR N WAt ScIe gt &

Y YhRIcHS T ¢ |

SHEEn # ghy, TR SR

3TAEA 1 YAt SAEA gy o
e FHRTTH T ¢ |

STEEAT i iy 3T ASTIR o s
Hh[{[cHsh HE—] %- |
STEEAT i iy 3T ASTIR o s
THNTcHE T T |

(B)

©)

(D)
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71.

72.

73.

Which of the following statements is
true concerning standard regression
model ?

(A) Y has a probability distribution
(B) X has a probability distribution

(C) The disturbance term is
assumed to be correlated with X

(D) For an adequate model the
residual () will be zero for all
sample data points

Which of the following statements
are true concerning a triangular or
recursive system ?

(i) The parameters can be validly

estimated  using  separate
applications of OLS to each
equation.

(1) The independent variables may
be correlated with the error
terms in other equations

(iii) An application of 2 SLS would

lead to unbiased but inefficient

parameter estimates

(iv) The independent variables may
be correlated with error terms
in the equations in which they
appear as independent variables.

(A) (i1) and (iv) only

(B) (i) and (iii) only

(C) (), (ii) and (iii) only

(D) (i), (i), (iii) and (iv)

What would be the consequences for
the OLS estimator if
heteroscedasticity is present in a
regression model but ignored ?

(A) Tt will be biased.

(B) It will be inconsistent.

(C) It will be inefficient.

(D) All (A), (B) and (C) will be
true.

74.

75.
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Match the following
List—1 List— 11
a. Unit Root Test 1. Durbin-
Watson Test
b. Contingency 2. Student’s
Table t-test
c. Regression 3. Stationarity
Coefficient
d. Auto- 4. y>-test
correlation
Codes :
a b c d
(A 2 3 1 4
(B) 4 2 3 1
< 3 4 2 1
(D) 3 2 1 4

Consider the following system of

equations, using standard notations :

Y, =a,+ oY, t oY+ a,X +
osX) T u

Y, =Bo+ B Ys +BY, +B5X; Ty

Y3 =70 T 17Xy T Xy T 13X T ug

According to the order condition, the

first equation is

(A) Unidentified

(B) Just identified

(C) Over-identified

(D) Not possible to tell whether the
equation identified or not
because reduced form of the

model is not given.
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71. O TEILEU Hied SR Aot

FT B F I T H T E 2

(A) Y W |eFar v € |

(B) X ¥ Qe foeror & |

(C) T I8 X ¥ Teqwitad St
g

(D) TH IUGH HEA & [oTd TRy
(0) et Juet grer fogstt & forw
I BT |

72. UH TIRIOT St¥ar YRET WU &
ey 4 fefafad 9 9 &9 a1 s
el E 9
(i) VH THEOT % T o uel Uy
(OLS) & 3Tl o ¥
R T AT F SFAA AT
ST EHATE |

(i) T T I GHET § e uaT
q ey g T & |

(i) 2 SLS ST 3TV TeTTe TR
ST TRTHEY SFAMT 1 3R o
S |

(iv) @A @ T & e 9,
S H o @as W O™ & 49
Heqwafd & |

(A) A (i) 3T (iv) T T |

(B) hae (i) 31X (iii) W& & |

(C) e (i), (ii) 3T (iii) TETE |

(D) (i), (ii), (iii) 3 (iv) T T |

73. OLS 3heish & o1 UROMH efl Iig
quIEe Gied H foum fommiar @ w
58 R W g ma a2
(A) TE GETITAYOT BT |
(B) TE 3T BT |
(C) J& 3T &l |
(D) (A), (B) 3R (C) Tt Tl &0l |
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74. frAfAfad s gafed S

a. THH A 1. -

TreToT CIrEsE)
TRIRToT

b. S 2. TomntEr @
afetent FARCLital)

c.  THIHIOT 3. TeEar
T[T

d. WY 4, 52 qdemr

HE

A) 2 3 1 4
@) 4 2 3 1
C 3 4 2 1

M 3 2 1 4

75. T GohaH I TN Hd gU e
TN o faen W fgar it

Y1 = o, t ocle + oc3Y3 + oc4X1 +

a5X2 +u,
Y, = Byt B Y;+BY, +B3X, +u,

Y= vt Xy 10X, t Xyt

SR e qHIHOT & -
(A) FEREE
(B) 3t stz
(C) 3fa i
(D) T€ ST T9 el & T Feetor
H T €9 Tol RA AL |
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